{  Whichof the following physiographic regions of | 4

The compound'interest on X 4,000 at 10% per
Rajasthan share’s’ its boundary with Madhya

~ annum for l'li"years, interest compounded half
pradesh?h ; y yearlyis:” .
G e et o o | e ottt
(A) Western desert plains region . H’*ﬁﬁ‘lﬁ'@@[ I TG I &
(B) Semi-arid region (A) - .630.50 (B) 600
(C) Aravali region . ‘SQ’ '% 620.50 (D) T 625
(D) South-eastern plateau region (E)  Question not attempted / STTAIa I4
(E) Question not attempted .

nmﬂmﬁn%ﬁaaﬁ%ﬂ?-mﬁﬁm%im’@' ; ‘ : ;
The difference between the compound interest
T T Y ST ST W St 22 ?

PPN %% S 7 mﬂﬁ_: 4 and the simple interest on a certain sum for 2

(A) iyt were e O years at 10% per annum is ¥ 700. Find the

B) Eﬁf{gﬁ? a3 - compoundlinterést on the same sum at the same

(©) IEET 85 rate for 17 years when interest is _compounded
Dy TRt et & half yearly.

(E) SIaRd W - _

@tﬁrmzéﬁwm%aﬁma{ﬁaﬁ@m

2 Tropic of Cancer"passes through which of the AT TR AT # TR L 700 B It TRy 9 34t

following regions of Rajasthan? T 117 ad 1 TwafE S T B S
Choose the most appropriate ansxfer from the sl gafE ST 21

options give'n belo\ﬁzl Bh} A) T11,03375 (B) 12,337.50

(A) Sirohi %21t {B) Bhilwara ' (© T1221125 (D) % 11,885.40

(C) JThalawar (D) Banswara )

(E) Question not attempted (E) Question not attempted / SFFART W=

w4 T T & Frefafiea § & frw &7 4 d

TS 22 : : 6 At what rate of compound interest per annum will
Prfofas el § & waifire 39gw IaUgA: a sum of Z 5,000 become 5,724.50 after 2 years?
(n) faud - (®) e <ergfe et it e il W T 5,000 A TfiT2
(C) ¥ A 1A af g X 5,724.50 B STt
(E) oigaia wd (A) 6% ®) 6.5%

3 Which of the following regions of Rajasthan ©) 715% "@) 7%
shares its boundary with Gujarat state? (E)  Question not attempted / 3¥afRa wr
Choose the most appropriate answer from the
options gi.ven below: (B) Pali 7 What number should be subtracted from each of
(A) Chat?orgarh s 15, 28, 20 and 38 so that the resulting numbers
(C) Udaipur ot attempted are in proportion?
(B) Quesé“’““ 1 - 8 T T HEATSAY 15, 28, 20 7T 38 3 el i & - T
Wﬁﬁﬁﬁwﬁwwm‘f“ (A) 3 ®) 6

) FadieTe ®) © 4 @D 2

(C) FEAR (D) A (E)  Question not attempted / 3TAId T
(B) At 94

2 [ Contd...
DEF - B14) &
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The Nagoya Protocol in ,access .ang benefit

sharing was adopted under Eli?' aggis of:

Choose the most appropﬂ'&{g answer from the

options given below: o0

(A)  The Zoological Survgyof India

(B) The convention on Biﬁlbgfcal'biversity

(C) Preinvestment Survey'of Fotest Resources

(D) National Centre
Information w9

(E)  Question not attempted

UTEYAT § @Y 'H@EI'@,,)‘?I'{ T Srier
< SeTd iR LTS
ﬁw%%aﬁwﬁﬁﬁnaﬁﬁg;wgmwﬁ:
(A) Tl STOR T g

®) Safefawmrafr (o

S W AT 9d oiTe BhE s

(D) VS Ve SR TR SR
€) FafEws ©

9 First “National Space Day’ (s observed on 23
August 2024 because: |
Choose the most appmpngg answer from the
options given below:

ipfﬁ:r; ; Bioteclmology

LR
[

(A India'became the fourth country to land on
the moon and the ﬁrsﬁtgareach the Southern -
- Polar Region on 23"¢august 2023
(B) 23" August is the birthday of Father of
Indian Space Prograrifie
(©) 23" August is the dat of foundation of
ISRO a0
(D) Indian MARS Missiecg was launched on
23" August _
(B)  Question not attempted;
T U fafer feam 23C3mmey 2024 1
HATIT T41?
frafafiaa fameat i 4 IggeH I I
L&) mﬁ%maﬁwaﬂgwa@zfﬂﬂ@
23 ST 2023 FGoft ey a7 7 TG
EISIRGRIE N
(B) 23 3T it et tafcey sz 35 Far 1
STHfe ® <
(C) 23 STRA 1 30 o i |
(D) ¥R 3 T SRR o 23 ayarey oy AR
(E) g;Taﬁ?rsr%r

DEF - B14] 8 15128 2] 20028

TR I IR AV

10 The state animals of Rajasthan are:
Choose the most appropriate answer from the
: _ - - LA
options given below: &=’ | e
(A) Tigerand Cow "\
. ‘ lo
(B) Tiger and Came N Yb T oo
(C) Chinkara and Camel n y A
. \1{.{.%0 “E‘n
(D)  Camel and Black-Ranther 1 Fom
(E) Question not attétfipted 3V, Ao 2
X D %>
TSI F T 7 8 (0 29
ﬁmﬁf@afﬁw’fﬁ‘éwaﬁ%ﬁr@mmgﬁ:
(A) =Ty —
e - )
B) =iz fJ 350 3
T e fe (R she 32 s
. . 35
(D) areaﬂtma‘?qn,g 35
(B) A[iayy g L=
2 Er; b
o i :
11 Which of the followingFivers is associated with
the Bay of Bengal drair‘l?ﬁ;e system?
Choose the most, appropriate answer from the
i i low;
options given below i 87.
(A) Jakham Chambal /e .
(C) Mahi Sabarmati s
(E) - Question not attempted o
 Frrffen i e wdisiyrer @t s A
- Gt &2 =
Pt freedt § & #31fa® Juges s \’;75:
(A) wmEw 4B T =
(C) W ED QI
(E) sgafass
' N
12 Which one of the folloWihg rivers does not flow
in Rajasthan? -:!i'
Choose the most appiegrfafe answer from the
Options given below:
(A)  Subarnarekha (B) Mahi
(©)  Luni D) Banas
(E)  Question not attgtipted .
e o & wt-efl < Tsreerr 3 e st 2
ﬁq&,ﬁgﬂﬁmﬁﬁﬁmmmﬂﬁ:
LAY wof /R
(B)  wrr o
©
(D) ==y
(B) * 3rgafa g4
' [ Contq,_,
SR Tl S
51 B 3EREDR
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-

y

:-h of the following National Highways pass
whic
. through Rajasthan?

Choose the most appropriate answer from the
options given below: -
(A)
(B)
©)
(D)

(E)  Question not attempted

%%%aﬁﬁﬁ-mmmﬁmﬁ
B o &2

ﬁw%ﬁgaﬁam}ﬁﬁwaﬁha;mmmaﬁ
A T Tt ey 208
BT T st w4
©) u@qmﬁm-m

National Highway no - 208
National Highway no - 4
National Highway no - 10

National Highway no - 11

D) “@?mﬁﬁ@i-u

(B)  af@wy
14 Identify the Rajasthani player who represented
India in Parisg Olymplcs 2024.
Choose the most appropriate answer frop, the
options given below:
(A) Lalit Kumar Upadhyay
(B) Maheshwari Chauhan
(C) Neeraj Chopra
(D)  Aishwarya Pratap Singh Tomar
(E)  Question not attempted
e Tsrearl faardt fomn A it A &
R &1 gfafafae forar:
mﬁmﬁamﬁmmm@:
—HA) <fera FAR U
(B) wredd dem
(C) et =gz
(D) Tt yary fag 9
€)  sraimwy
DEF.

15

16

<P

In which of. the following games haq Nik;
Ity

Chaudhary of Jhunjhuny (Rajasthan) WOn megy
at Macau, Chma n June, 20242 s

Choose the most appropriate ang
options given below:

(A)
(B)
©)

Swer from the

Gymnastics
Sambo

Chess

Bad'mirnton

Question not attempted

SFAfE war

Sh. Bhajan Lal Sharma, CM of Rajastian

represented  which constituency in theléth
Assembly'?

Choose the niost appropriate answer from the

options given below: -
(A)
(B)
©
(D)
(E)  Question not attempted

ISR 26 Teastft st sy ervey gt 1 6f Rt
% e e & 1 Wi w @

et & & wraffores qugm s gt
A mﬁz
(B)
©
(D)
(®)

Sanganer
Shahpura
Siwana

Rajsamand

17

18

19

DE
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17

Which party has won. Banswara Parliamentary | 20  How many parts are there in the stomach of a
constituency (Rajasthan),in the 2024 Lok Sabha camel?
Election? N ch h . fiom the
Choose the most appropriate answer from the DOSREIR MastigpproyHate Rasver
options given below: ' options given below:
(A) Bahujan Samaj Party ° (A) Five
(B) Bhartiya Janta Party (B) One
(C) Bharat Adivasi Party ,
(D) Indian National Congress () Two
(E)  Question not attempted : (D)  Three
2024 & SEFEET @ F frw o Y EIGEIS (E)  Question not attempted
(uawn)me‘héggsﬁamaﬁﬂ _ Teh Sz o AT B foRery wmT 2n £
Reffae it 3 3 waife sgm swog Frfefaa faeredt & @ waifie sggw w0 o3
(A) S 9IS 9t . = h
(B) el STaT uTdt &) 9= A c & A9
ey snifeardt urdf TH SR \ -
D) 3T e wing ) & j ‘
(E) egaRkawy @) & Py ,_H_"_:’ & =8 ¥ B
- 9 & &
18 A sum of ¥ 1,800 is divided among A,SB, Cso (E) _ ST 9’5 A c 23y
that A gets % of C’s share and B gets 7 of A’s - 20 T
share. The share of C is: 21  Bleedin i -
) i g from all natural orifices and distress
% 1,800 F1 TRT Y A, B 7T C & 30 FHRL A1 TS s - .
ko Semar. 2 ST — %_ trembling is important clinical symptom of whic
TR BT R) C EFT‘?T'T%7 of the following diseases?
(A) 600 (B) 1,000 Choose the most appropriate answer from the
©) 29 ’ 36ge
. 00 ~AD) 1,200 options given below: l.ér#t‘:'):* }/\
) Question not atteripted / STt 5 (A) Black Quarter _,3;?
19 The process in Wwhich the superior males of one (B) Hemorrhagic septicemia —Jm |
breed are mated with the superior females of (C) Rabies
zr]l]other breed js called: (D) Anthrax
opt(')::se ‘?13 most appropriate answer from the (E)  Question not attempted
10ns giy . : fis
(A) [ngbr::d?:;ow' (B) breeding o ? il - N
B)  Out breedi
F ‘ <hT
(C) Back Crossing (D) Cross breeding fFre=feRas o @ form A T W Ffyw
e ufsrar gy Vi & F 3 T
BT & e T 6 A1G T G T Frifiafer fasredt # @ waifie sugw sy,
ﬁ%‘“""“a‘gmé,w (A)  =¥FFIX £
Feeres qaifere Iggd SN e \ )
(A) SR il AR, 25 8
(B)  =ITel sy ©) Yt ity 3\
(© 5l o (e e ©) —§ TE
AD)  FH T (g e ; " 23
sffem) (B)  argufia w4 .
(E)  igvfc yy [ Co 4-9°0
DEF - B14) 8 e _33\3‘”5((9
A £} \ &j
5 - R SR IEN.T
T )
Ay e TSR
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17 Which party has won, Banswara Parliamentary
constituency (Rajasthan),in the 2024 [ ok Sabha
Election?

options given below:

(A) Bahujan Samaj Party" '

(B)  Bhartiya Janta Party:

(C)  Bharat Adivasi Party . .,

(D)  Indian National Congress

(E)  Question not attempted I

2024 % e g § R o X aiwarer
(TSTEIT) HEEH & 8 S wiw e

Pl forsredt 3§ 3 waifares suge s
(A) ESH EHN UET

(B) RN ST 9t
Y&y e e ot

(D) e vme g

(E) Srgaiayw

18 A sumof ¥ 1 800 is divided among A, B, C so
that A gets 7 of C’s share and B gets 3 of A’s
share. The share of C is:

Z 1,800 ST URT T A, B 91 C 7 50 THR |1 78
fRA® CHAMH 2 qurBH A Fama 3
YTH BT 8] C HT 9T R:

(A) T600 (B) 1,000

(C) %900 AD) 1,200

(E) Question not attempted / STFART 95 -

19  The process in which the superior males of one
breed are mated with the superior females of
another breed is called:

Choose the most appropriate answer from the
options given below:

20 How many parts are there in the stomach of a
camel?
Choose the most appropriate answer from the

options given below:

(A) Five
(B) One
(C) Two
(D) Three
(E) Question not a&empted
T i 3 AW F o T a2
frefafaa faeredt § & waffire soge s
&) .9 A = €1 8
: :ﬁ TRl T A
(D) 4 6 ~oedE c N1 0
® FEfays g ¢ b
e T 23y
Tt 2168

21  Bleeding from all natural orifices and distress
trembling is important clinical symptom of whic
of the following diseases?
Choose the most appropriate answer from the )

Jsce
A

options given below:

——'—'——""1
(A) Black Quarter /2,;{"
(B) Hemorrhagic septicemia ‘o8 0 {
(C) Rabies _—
(D) Anthrax

(E)  Question not attempted -

(A) Inbreeding  (B) Outbreeding o yrrfiw of @ weE ok swedt sy
4 (C) Backcrossing (D) Cross brecdiqg ﬁw‘%{f@aﬁﬁﬁmﬂ“aﬂ@wm
Lol (E) Question not attempted & T 2 - LN _
s T WA forat uew T & 98 T w qad T o
g TaT @ WHITH SR ST &, el B _ ' "%'I@E'ﬁmﬁﬁmmﬁﬁmaﬁ:_
Frefafaa famed § & waffas sugs ST A: (A) =i 7Tt ‘
(A) SIS By e St C"— A i R
IR S © T 1Y 4N
©) mwmﬁn ©) wiw LTI S
) RIS (G ) B m
() FTRRE S ®)  srgafe s lh
DEF - B14] @ . [ Contq, 4—0
} Q
Sy deg =8 1 iy \s???'
A3 G %
) % e A —— . =2
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22

- (A) wOw

23

24

. DEF -B14 ] &

_ mﬁmﬁﬁmﬁmmwﬁ

—D)

A ]

Foot and mouth discase in cattle is caused due to
infection by o

Choose the most appmw:c answer from the
options given below: N

(A) Fungi (B} Bacteria

(€) Virus (DY Protozoa

(E)  Question not attempled

Y 3 GIHI-HEYHT AT S H0T
2

Frafofe et i waifirs 3ugw W A:
(B Sy (difean)
uey— famy @) (Dﬁ M s
(E) uRaws Ve
R .
Grooming of calves is dofieito:
Choose the most appr-@%re_answer from the

HehH T

options given below:

(A) Keep_them clean g :
(B)  Get fibre 0
(C) Avoid licking O

(D) Decrease blood cir&ﬁation.
(E)  Question not artemr'éd

SIS AT YT A AL B oy

(A) 3% =0 @ F A

(B) T (@) mm%"%q

(C) “IRAgTEE %ﬁ%{gm

T JICH=R0T T A & foye

(E) &iaia ug v

2 <l

‘Project Tiger’ was launcﬁ"gd in:

Choose the most appropriate answer g,

options given below: f ol

(A) 1973 (B‘){) 1962

(C) 1968 (D) 1970

(E)  Question not a[lr.m‘ﬁ;}:d

ag qfETSET (e T g oy

ﬁrm%rﬁgﬁi%mw‘rwzrqﬂhmmm -
1973 1 (B) 19623

(C) 1968H (D) 1970%

(B) i gy

om the

6

25 Which ofthe followipgs not a forest ang,

resource? .. ()
Choose the ,most. appropriate ansye; i
options given belows (3

(A)  Protected fore§td

(B) Reserved fr;)rf;;gl

(C)  Unclassed forests

(D) Indigenous fmats

(E)  Question not aftempted

ﬁwfﬁﬁnﬁﬁaﬁmﬁqﬁﬁm‘hma
& ©

ﬁn%rf@aﬁﬁw}ﬁﬁaf&mmmm
A) Wraaw g
(B) ftmaT :
(C) SFfiFaaT O
/aaf Wmﬂﬁm%
(E) aﬂaﬁﬁw o™
W0

26  Animals whose num‘;gr'ls are reducing {0 she
that they might face &xdinction are known®
Choose the most appropriate answer fon®
options given belowi
(A) Endemic specﬁ?%

(B)  Endangered spgles
(C)  Extinct specles:i,
(D) Susceptible sﬁecqes

(E)  Question not attempted i

@T‘T@ﬁ?ﬁmsﬁaﬂ(ww@?ﬂm

%ﬁaﬁmwmwm% el € é

ﬁm%mﬁwaﬁquwﬁﬁ
(A) e fiafey

AB) e i

(©) foqw snfewt

(D) wagHIfe St

(B) orgafe wa o

(¢
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28

DEF - B14 | &

By TOH 9GTH AT § BOHId T ST 8l

&) b,cad

Which of the following statements is not correct
about laterite soil in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) 1t is formed by- the  crystalline and
metamorphic rocks. '’ -

This soil is found in Dungarpur,

(B)
©
D)
(E) Question not attempted

Frfefaa # H-ar o o A Ruge g F
TRA g T R?
Frafafas fasedt & & waffas suges swog:
(A) TEFEIART 06 WIR THT @ 5+ 3]
(B) & a1 STRUT H Urft STt 21
g 7w $r IJufkafa & wRo 98 S TR
ST Rl |

It looks red due to the presence of iron.

It contains enough quantity of phosphorus.

(E) IgaiEyd

Arrange the following 'disu;icts of Rajasthan in
descending order according to their literacy rate
(Census 2011):

a. Churu b. Kota

c. Alwar d. Sirohi

Tsrear & frefefiaa et @ arerar & (20119
SHTVMAT) & 92d FH § Sqaiyd hi:

a. s b. T

(o Al d. o

Choose the most appropriate answer from the
options given below:

#= feu v fasedi 4 4 gatfas JugwH I zﬁ[
(B) d,b,c,a

(C) ab,cd (D) b,a,c,d

(E) Question not attempted / aﬂﬂﬂ?f a4

29

30

31

“Vijaya Stambh”, located in Rajasthan was
constructed by?

Choose the most appropriate answer from the
options given below:

(A) Bappa Rawal

(B) Mahmood Khilji

(C) Rajaraja Chola

(D) Rana Kumbha

(E)  Question not attempted

TereT 7 frora “fasm w5 i fress g
FHTETIT TAT?

frefafaa famedt & & watfis suged sara:
(A) SHTTEA

®) e Rawrh

(C) TS =

Dy TomET
(E) aRayy
"A shopkeeper sells an item for ¥ 900 and suffers
a loss of 10%. To earn 12% profit, for how much
~ should he sell the item?
T gFMaR fardt asg @1 % 900 7 S=ar @ iR sy
10% 1 &y Bt 81 12% Ty sifdfa et e 3a
e it P & e R ;':ﬁ’_f\ —_
(A) 1,100 B) T 1,098 »
—H€) T 1,120 D) T1,112

(E)  Question not attempted / 3ﬁ?lﬁ?f BES
Nikhil sold an item for ¥ 1,425 and suffered a loss
of 5%. For how much should he have sold it to
earn 10% profit?

Frfaer & o awg 5% Y F | 1,405 o =
lO%F{mmﬁfﬁaﬁﬁaﬁf\aﬁaﬁa‘gaﬁﬁmﬁﬁ
St =nfe ot

(A) 1,662 (B) T1,638.75

©) 71,642 —D) T 1,650

(E) " Question not attempted / AR Wy

[ Contd..,
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32

33

A shopkeeper sold an item for ¥ 960 afler allowing
20% discount on the marked price. What will be
the selling price of the item if he gives only 12%
discount? : |

T THAET Y g 3 SR e W 20% T T IH
I T 960 F Al AR 77 A 12% F g A
R R LU

LA T1056 (B) T968

(C) T998 ®), T1042

(E) Question not attempted / Hﬂﬂﬁﬁ e

i i
In which folk theatre for%nliis its artist called
‘Behrupiya’ (Impersonator)? |
Choose the most appropriate answer from the
options given below: "R
(A) (B), Swaang
©) . O
(E) Question not anem;:ifed

forr e T2 Sreft 3 eI T TEERIT FHeT ST

Tamasha

Gavri Ramavat

& i |
Pt foredt 3 & warifires Sugw sma
AA)  THRT (B) wm
© b (D) T
® omdRawE ¢
!
34 Where is the Keoladeo ::Ghana National Park
located? oo
Choose the most apprap'i"l'ate answer from the
options given below:
(A) Udaipur (1%’) Bharatpur
(C) Sawai Madhopur(l}?l Dholpur
(E) Question not attem 'tled
e o 3 & waifre Tgm o g,
(A) FEAE (B) AR
© wadwdgr (D) R
(E) 3raiaas
DEF - B14 | 8

35

36

‘Choose the: most appropyiate answer frop
(A

(©

(A) [T
- (B) T=UIg

APy AR (I

B

Which fort of Rajasthan was referreg Inj
*Second Gibraltar ofth@mrld’? }

§

(N s
0 |
i f

options given below:
Junagarh
Nahargarh b 'I
Mehrangarh Q ?
(D) Taragarh (Ajmer) 1
(E)  Question not attefnpted
TrTeaT o o foret =t <fora =1 qu s
SITaT 87

ﬁﬁﬁm&wﬁﬁ@%mem?

(B)

28D

(C) WS

(E) SIgaiawsy

62800 04

Which of the following Widtricts of Rajastia®

. iyl
the highest sex ratio in @f‘l area accordinz®
census of 20117

i
‘Choose the most approgriate answer from

options given below:

Q

(A) Jhalawar AN

(B) @Gan st

ganagar s

(C) Pali <

(D) Jaipur o
(E)  Question not attempted

i
2011 ﬁmw%agguw%ﬁﬁﬂ'ﬁ
gy e

& forer foret s amehor g
Frefifa et 3 & Qetifare 5780

A) T :ﬂ

(B) TR <

£ uEh o

(D) R

(B) 3rgafe wr : Cf"’[d;
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37

38

T e ——

. 39

AC) S

In which of the following arcas of Rajasthan
Salar forest is not found?

Choose the most appropriate answer from the
options given below:
(A) Q
(C) Jaisalmer o (D) Pal

(E)  Question Ad{ attempted

Freiefa 3 ey 3 e vt e g
ST &2 gt
Freaferfirn el @ watfires swgm s g
(A) I (B) IR

(D) et

Ajmer (B)  Udaipur

o)
(o
JIFARE w0
N

(E)

O
Which of the follagving trees is not found in the

tropical thorn for®sts of Rajasthan?

Choose the mosﬁzppmpriate answer from the

options given below:

(A) Bamboo ¢y

(C) Kheji QO

(E) Question pQt attempted

frafafas § FLF I8 TR & IWEHHT

HiegR FAT H TET QY STA? ' ‘

frefafiaa fractil @ waffae Juge S
AK) ™| (B) Ufesr

€ T o O =«

(E) aaﬂﬁﬂrg

(B) - Rohira
(D) Bair

Name the fort b& by Maharaj Surajmal in 1733.
Choose the mogtyappropriate answer from the
options given belaW:

(A)
©
(E)
1733 H RS

Gagron fo(;t) (B) Jalore fort
Lohgarh fort (D) Churu fort
Question fiot attempted

gr ffife feey ot e -
fr=fafaa | & waifores gugw S I
(A) TRARRED  (B) ST e
<7 Eﬁ?ﬁﬁ%ﬂ (D) & farem

(E) oORa gy

DEF - B14 | 3

9

40

41

‘o Afifimm d

~B)

D

S

Which famous temple was constructed by the

legendary Bappa Rawal in the Sth century?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

gt wrarsdt # qour wAd 0 Rt af=r w5
fomtor seamar mam?

frfafiaa fasedt & @ waifas soged s T+
(A) FHRE HiaT

waferTsht Aft

it af<t

EUCANR: 248

Al Iy

Rishabhadev temple
Eklingji temple
Shrinathji temple
Jagdish temple

©)

®)

Stainless steel is made by mixing iron with
i b'
¢. Magnesium' d.

a. Carbon Nickel and chromium

Manganese

Choose the _:rml)sr appropriate answer from the
options given below:

(A) a,banddonly (B) a,bandc only

(©) b,canddonly (D) a,canddonly

(E)  Question not attempted

I =T "q'w:fl R ® fre it e s=mr HTET
B-

a ¥ b, e R Wity
LUCiE »
(A) s, baikd ;
(B) Faeta, badte

A b, ¢ 3 d

%t a, ¢ 3t d

STaiE vy

(D)
(E)

[ Conta..
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42 When vinegar is added to baking soda a gas is | 45  Which of the following Statements i ot
liberated which when passed through lime water about the climate of Rajasthan?
makes it milky. The gas is: Choose the niost appropriate answer fr,,
Choose the most appropriate answer from the options glven HelBiE b
options given below:
A The western desert rec
(A) Nitrogen (B) Hydrogen &) CiVes. migip, |
© ¥ () * Eaibon diasiis ramfall with annual average of 25 om, ﬁ |
(E) - Question not attempted (B) The . average rainfall js not high ; (Y
o Sfe W § R fremar s € @ w g Rajasthan because it is located i g,
T %ﬁ?ﬁgijﬂ;?ﬁ Tt %QG{T%‘SI'{ SHH interior part.
F- fa;tﬁ : l 5 ﬁﬁ o Gﬁtﬂi (C) The extension of Aravalli range js
)’Q MR ®) 'SE?JGFI _ perpendicular to monsoon winds.
©) il ", waf:rmsaqmrgg - (D) In winter little amount of rainfall is
(E) rgaitawa s : received through mavath,
43 In which of the following areas of Rajasthan the ’ (EE ) Q: .
desert soil is not found?-' : ifaﬁh' Wmmﬁ?ﬁwkﬂ _
Choose the most appropriate answer from the 3wt 7 22
options given below: ' Prafifaa Rredf 58 waifere sugeE ST
(A) Kota (B) Churu (&) R vt s ast sy sar e
() Nagane (D) Jodhpur e sftaa 25 aefr gy >~ i
(E) Question not attempted = - i
AL L L r S—— ® o st v 7 $ i |
& el st 29 - iR s Rem
ﬁm%%aﬁwﬁﬁﬂwaﬁ&mmmgﬁ: - O uEelt siwer 1 e ard v o
b B) & Ll Aeenyd i
(((é) RIS o D) Eﬁﬂat (D)  3ffer =g ¥ wras @ o quf yrg ey ot 2
' (E) rgafeawsr
@ Which one of the following wild life sanctuarieg : ) —
—— aisisthun? 46  Which .Of the followin g is not an alloy? ” .. 49
Chioose the: miase appropriate answer frop e _ Choose_the most appropriate answer from ]
options given below: options given below: ]
.(A) Ram Sagar (B) Ramgarh Vishdhari (A)  Stainless steel (B) Mercury ]
(C) Bhensroadgarh (D) Bhimgarh (C) Brass (D) Bronzé
(E)  Question not attempted ] (E) Questio
F B .o : 0 not attempted I_-
qﬁiﬁ”%?‘%"@“ SR Toreerr 3 Freferfea & & Fh-2ft farsrurg et 7 |
mw&&mmmiﬁ: I ¥ Il%ll@ilﬁw‘&ﬁm@wmw? 4
AT T (B)  THE Ryyurg- B TR Byt @O
©) udemg ) g - © s (D) HiE
€y (B) sigefaws (B)  Irafa vy  DEF
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47 Which of the following non metal is a conductor
of electricity?

Choose the most appropriate answer from the
options given below:

(A) Iodine (B)  Sulphur

(©) Graphite < (DY Coal

(E)  Question nofttempted
el § 3 2 31T Faege < s 2
Fafsfas feeat

48  To remove farsigl%%ness defect of eye we use
spectacles fitted WLJ

Choose the most appropriate answer from the
options given beloWtl
(A) Convexo-C(Sﬁ"éave
(B) Concave 131;&1
(C) Convex lens
(D) Bifocal lens _
(E) Question no aftempted
T H TR A A 3 0 F R e S e
T T TG By ,
Frefefan faeredt 8@ watfire sugm s
(4)  Fo-IAE %
(B) maﬁu%
- —€) IdCEF
(D) Tewiedt <fa s
(B) sHoRaws O
L9 s
Which dialect of th®)Rajasthan is spoken in the
region of Chury? €N

Choose the most 'qgfmpriate answer from the

49

options given below
(A) Hadoti Q (B) Wagadi
(C) Malawi (D) Shekhawati

(E)  Questionno mpted
TSR & < 8 ¥t Sirefy sireft st &2
(A) wedt (N ®B) amd
© wadt  Oupy faE
(E) agafmuag
DEF. g4 e ©

11

50

51

52

* Choose the mast appropriate

“Rane Jagpat ra Marasya” was written to mourn
the death of- ;

Choose the most appropriate answer from the
options given below:

(A) Rao IndLa)Singh

(B) MaharangayKumbha

(C) Maharah@)Jagat Singh

(D) Sant Na:r?i‘éev Ji

(E) Questiogqotaltempted
“ﬁmnq@r’mmmmmw%
fere feram mames

fFrfefaa famedi § 2 walfers 39w IaU T

&) e @) werom e

(©) weRwnSa iz (D) waamRa St
® sy

O
“Jeen Mata”s~fhe eight armed goddess is
considered the'carnation of which Goddess?
Choose the m{;gt .appmpriare answer from the
options given below:
(A) Saraswéh'). . (B) Durga

(© Lakshnm. (D) Gayatri
(E) Questio@got attempted

% STdT
ﬁn%f@aﬁaﬁiﬁ%wﬁw IUgw Iy
(4) & @y Rl
©€) =i (D)

E) it

Q .
‘Teej festival ot Rajasthan is Celebrated in the
month of - ;

o answer from the
OPtions given Balow:

(A) Phalgurf< (B) Shll‘avan
©)  Chaitra (D)  Kartik
(E) Questiogrpot attempteq

3 ﬁq?mqmg.,
(A) WEE QMTEU[“ 3?9:3'}
© w0 o Fife
®) srgtermy
; -]
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53  Where is the Kapil Muni fair held on Kartik

Poornima?

Choose the most appropriate answer from the

options given below:

(A) Rewasa in Sikar
(B) Chaksu in Jaipur
(C) Kolayat in Bikaner
(D) . Diggipuri in Tonk
(E)  Question not attempted
Fafies ot 2 fer 5f et o &2
Frifrfm frarealt 3 & wartfores swges sm
(A) dwdEm
®) wEgpdamy
ACT e e
(D) Iwdfenfigh
(B) orgaf@awy

54 The article of Jewellery called “Borla” is wom by
the Rajasthani women in
Choose the most appropriate answer from the

options given below:

(A) Neck
(B) Ankle
(C) Wrist
(D) Head
(E)  Question not attempted
“HREAT” AT PN IO T Ty Euy
¥ BT ST R ‘
ﬁnﬁiﬁﬁﬁm’fﬁﬁmff&mm’gmm;ﬁ;
(A) T
(B) Tl
©) Fm
o) fr
(E) rufayd

DEF - B14 ] 8

A

12

55

56

To which area of Rajasthan does Shree La] Josh;
a Phad artist belong ? ;
Choose the most appropriate answer from the
options given below:

(A) Bhilwara (B) Jaipur

(C) Jhalawar (D) Kota

(E)  Question not attempted
mmmaﬁam:mﬁmwmmm%ﬁm ;
PR Ry
frmafafaa i 5 @ Wﬁﬁ&"?ﬂgﬂ;mﬁi
KAy fterarsT (B) AL

(©) zremETE (D) e

(B) Igufa gy

Keoladev National Park is famous for )
Choose the most appropriate answer from the
options given below:
(A) Elephant conservation
(B) Tiger conservation
(C) Migratory birds - i
(D) Lion conservation
(E) Question not attempted |
FIARI UL ITT Ffausfagd
frefefaa foemedt 7 & AaHres I9gw 3w -
(A)  greft gy (B) <fardwEm

ET W UEET (D) fiw @0 G
(E) <Tgaftawsr

e ——

57) “Chipko” movement in Himalayan region was

held to resist against -
Choose the most appropriate answer from the |

options given below: i &
_ (A) Road construction in hilly regions |
(B) Hunting
(C) Cutting of trees
(D)  Over exploitation of forest resources
(E)  Question not attempted
fomertt &0 & “Rrowr oo ¥
fore witrer 3 v faray wrarr ey
Fraferfaa fravedt 3 & warifires sagm sw
(A)  TETE &1 ¥ e fmfor L
(B) _ T (b atem)
-:g/ et ot s f
T A i e i
(E) srguiaws ‘DE)
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g Name the Hindu Saint, also Wworshipped by tt
e
muslims as “Ramsa Peer”, .

Choose the most approprmre aUSWer fiom ik
e
options given below:

(A) Ramdevji (B) Mehaji Manglia
(C) Devanarayanji (D) Mallinathji
(E) Question not attempted .- '

o ferg e o v o fers of oo e Sy
7o &

ﬁ%ﬁﬁﬁﬂﬁ%mﬁmmw;ﬁ
oK) TR (@) AehRer
(C) J[WRESST (D)  wieaHmsh
(E) uRawy
59  What is the colour of the ‘Pomcha’ presented to
the mother of a new born daughter?
Choose the most appropriate answer from the
options given below:
(A) Orange (B) Pink
(C) Yellow (D) Lavender
(E) Question not attempted
st G <6 wiF <R fe G o dre fea ST e
P et @ wratfiras 3ugwm s gt
(A) =t ®) TawEt _
L@ diem (D) S (@Y
® ompRaws
60  To which family of musical instruments does the
‘Shahnai’ belong? '
Choose the most appropriate answer from the
options given below:
(A)  Sushir (B) Dhol
(C) Beat (D) Barrel
(E) Question not attempted
T arerda ¥ forer afam & gifera 22
P et § @ watfires guge S0
YAy gRm B I ‘
©) e (D) *&
(B) orgafa@ws
EF.B14) 8

1

61 In which year was the “Mewar Praja Mandal”
> established in Udaipur? '
Choose the most appropriate answer from the
options given below:
ST 3 “HaTg ST Heer” Y TATHT el g7
Frerferfiad et 3 & wraffires 39gw ST
(A) 1940 (B) 1937
9 1938 (D) 1939
(E) 'Question not attempted / ST T
62  The integration of the Rajputana into present day
- Rajasthan was completed in how many stages?
Choose the most approp};iate answer from the
' options given below:
TSTIATAT T Tl S T ¥ B9 F fRa
fraferfaa fasredt # @ waifae suged s A
/6) 7 B) 2
<© 3 (D) 4,
(E)  Question not attempted / STTaa 9%
63  Which famous personality of Rajasthan is also
known as “Banasur Ka Shaheed”?
Choose the most appropriate answer from the
options given below:
(A) Major Somnath Sharma
(B) Major Shaitan Singh
(C) - Lt. Gen. Nathu Singh
(D) Lt Gen. Sagat Singh
(E)  Question not attempted
TSTEIT o fory witrg, safthe =t « “TTITER T T
i ket e 2
}%ﬁwﬁﬂﬁwﬁmm -
& Mooy S
) Safawsy T
13

[ Contd...
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64

P a-lll,bigc IV,d-1I

DEF-B14 8

Match List- with List-IL, 65
List-I List-11
a. Non-metalusedin =~ 1.  Graphite.
. o
acid, gun-psa'\»ﬁdcr
and medici:ge
N
b. Non-metal uged II. Mercury
in elcctrodeg
c. Metal used fn? II. Sulphur
electronic instruments
o)
and wires 3
0 .
d. Metal used{:,u | IV. Copper
thennome[erg :
HE‘TI%W'H‘&‘LIIW&FTH@%‘QI
a1 C" r et
a. I, mrm%aﬂt L U%Ee
ﬁﬂﬁﬁﬁﬁw‘oﬁ’raﬁ
‘clTEﬁamlgN -

b. sﬁ?ﬁgﬁaﬁqﬁaﬁ I et )
EITF-RWH'QF
c. TR R0l i Il §eH
AR & 94T Y Ay ATt
WS q
d. mftﬁztﬁaﬁn@mﬁ Ivaﬁ‘m(am)
Ity \O '
Choose the m% apprqpriare. answer from the
options given beldw: -
#T%ﬁqmﬁmﬁﬁmﬁammmaﬁ
(A) a-NLbalc-11,d-1v
®) a-Lb-fRc-1v.g.q
a-II,_b-{%,c-l,d-III

(B)  Questiof Dot attempted / 3w wey

14

Which of the following non-metal reacyg winh

conccmrated nitric acid (HNOj)?
Choose the most appropriafe answer frop, lhe
options givempelow:
(A) Iodmg
(B) I?hosghprus
(C) Carbdl
(D) Sulp];_;‘x.! -
(E) Que.sf’i?n not attempted
Freafefas i & et s @ T wm
(HNO,) % gry 31fuferar st 22 !
ﬁﬁ%ﬁaﬁﬁ’%ﬁq’r ﬁ'@ﬁﬂfﬁﬁm&mmaﬁ: 68
(B) wieRRE
© Ty
© wew
®) wEf@ws
O .

ShekhaWati?%gion is part of which of the
following phfRiographic division of Rajastha’
Choose theewmost appropriate answer from the
options givtﬁ:-helow: 89
()
(B)
©
(D)
(E) Quesw not attempted

TR Sy & frfafan § 8 m
TR Tt 6 o 2 ‘.
Pt Rt mﬂam:mgmmﬁ*
&) it A ¥ 2

(B)

Eastern plains région _
West€fn desert plains region
SemiZtid region

Aravﬁ'll,] region

(D)
)
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In which of the following areas of Rajasthan
black soil is found?

Choose the most appropnate answer from the
options given below:

(A) Churu (B) - + Jhalawar

(C) Jaisalmer (D) Bikaner

(E)  Question not attempted ,
o & fFafafies 8 3 feg éi-:r & Hreft T ard
STt 22

= feu T fyenedt o @ waw :wgmmgﬁ: :

A) I¥ —Bf FETS

(C) SR (D) Mt

(E) TIaia ¥

In Rajasthan (SEZ) special economic zone for
handicrafts has been established at:

Choose the most appropriate answer from the
options given below: :

(A) Sitapura (B) Bhiwadi
(C) Bhilwara (D) Boranada
(E)  Question not attempted *

TSR H geafvrey & fod oy enfifes & wnfia
[ERIRIEIES
ﬁﬁ%@aﬁmﬁﬂmﬁﬁmmaﬁ
AK) g (B) fraret

©) HfigEgr (D) ST

(E) wgaiaws

Who has been awarded the Padma Shri Award
2024 from Rajasthan in the field of social work?
Choose the most appropriate answer from the
options given below: '

(A) Mr. Janki Lal

(B) . Ms. Maya Tandon

(C) Mr. Kumar Manglam Birla

(D) Mr. Laxman Bhatt Tailang

(E) Question not attempted

TSTET & QTR e & 8§ i qeni, 2024
} for gt feram mam?

Frefafaa frredt & & gaffie sogm sw I
(A) ' $f STeht erer

B) gHramTisA

(C)  #ft FAR vy fergam

(D)  oft TEoT Wg AT

15

70

P

71

Match List-I with List-II..

List-I List-TI
(Project/festival) (Place)

a. National park 1. Jaisalmer

b. Desert festival II. Sambhar Lake
¢. Ramsar site III. Ranthambore
d. Braj Holi IV. Bharatpur
Heft-1 % wr gh-11 1 firem hifdg
ef-1 T-11
ERaATEEY) ()

a. Ufaarsh L SEeR

b. I HiReae I e

c. THELEA . TR

d. F= e IV. W@q

Choose the most appropriate answer from the
options given below:
A R e forereat 3 & waffares suge sacas:
(A) a-ILb-Mc-Ld-IV
'B) a-Lb-I,c-I,d-IV
a-ILb-Lc-I,d-1V
a-Lb-I,c-II,d-IV
Question not attempted / 3TTART W3~

D)
E)

Which of the following cultural/ tourism events
in Rajasthan will appear first in lhe year (English
Calendar, 2025)?
Choose the most appropriate answer from the
options given below:
(A) 'Braj Holi festival
(B) Camel festival
(C) Kite festival -
(D) Baneshwar fair .
(E)  Question not attempted .
TSR § e 2025 (mﬁ@ﬁaﬁ@n%mﬁﬁqﬁ
H F qeer M aTet Iewa/ W HREY &7 T
-
P et & e e e,
(A) 9 Eh T (B) e Imyg
AE) WTWRiwa (D) SR Yy
(B)  safawy

[ Conta
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72 Which of the following techniques is suitable for 74  Which of the following are the ex Ples of
the disposal of bio-medical waste? communicable diseases? -
Choose the most appropriate answer from the L Chi?‘fe“_ pox
options given below: b. Can;c‘q |
(A) <l::":?'?t:im:ration e Tmeu‘g;S : [
(B) (Reuse d. Diabetes e
(0 gﬁndﬁl{ e. Cholera :ﬂ
(@) lsposal in running water Choose the maost, appropriate answer from the
(E) (Question not attempted options given beldiv:
3 v A b
L (A) banddogly (B) a,dandeonly
?}h‘ﬁq—e%% fore Iuges &2 (C) a,bandcpnly (D) a,candeonly
) : ; (E) Questionigt attempted
ﬁﬂﬁ%ﬁﬁﬁﬁﬁ%mﬁ%@wm : %
A) :W v ¥ Frafafaa & & B=-3 dwms I F =R H
" S
®) S wwm Doz PenTiing,
A b. F O
(O Sprorefrer .
(D) @mﬁﬁrﬁm . ( & _ )
®) %ﬂﬁﬁaua o ur(wiats | |
o | ﬁﬁqﬂtﬁ%ﬁﬁmﬁ%ﬁmm@
73 Sn—eptt;f;ycin, tetracycline and erythromycin are (A) W b el (B) ¥aeia,d3iNe
the examples of- (© Fada, bgl‘( " .i R
; Choofe-the most appropriate answer from the (B) Irai@wy
F T options given below: ' :
(A) @cteﬁa (B) Antibodies @ Divide ¥ 1,727%}0 3 parts so that their amount
(©) %ﬁbioti - D) Preservatives after 3, 4 and 5¢ygars respecti_vely may be equal,
E) i & efbentatid the rate of interét{being 5% per annum at simplé
estion not attempte ) ;
interest. The second part is:
: , TgraTsfoea o sheimmefm s :
5 x % 1,727 %t A wfiflt & g@ b e fi 5% A
frafefaa 3 33w §-
‘ 3 ﬁn%%ﬁﬁﬁﬁﬁﬂﬁﬁmm TR 3, 4 o 5 d v
* LR L TfRrart s 8 e T R:
(A) %ﬁﬁmlsﬁmﬂ _ - 'lE; (A) T 600 o K ANT [,Mmm;
(B) @HirEh (afeadh) ad, ..?.l--f' B) 769 23 T L,y= 2y
92, ¥o (B) 0 0 & b
Sk %Ii" ot . 00 geeh @ ws @
(D) ‘e | {%/5’59 2575 oy :
(&) Ehﬂﬁagm ?;i’o v?/\- (E)  Question 1ibt attempted / JTTARd T4
4 A 218 ntd.e
DEF - Bl4¢>3 ﬁ;\« \:Q. 16 ( s SHL. [ Co
L L 6 s 12ty ?
| - 7 70
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o

On simple interest certain sum of money amounts
to X 18,130 in 6 years and to X 20,090 in § years.
Find the rate of interest.

quz@mﬁﬁaﬁﬁ? 18,130 B et
2 IN AT 20 090@31?&%1%3&&13:33&1

)

KT 8.8% ®) 6%
(C©) 7% (D) @3‘ ;
] (E) Question not attempted‘&;’ﬁﬂﬁa L
. =3
77  Mendel performed hybridizatm experiments on
y plants.
Choose the most appropriate-answer from the
options given below: 28]
(A) Onion EE
(B) Tomato =i
(C) Rose <
(D) Garden pea _ =
(E) Question not attemptedO
EESEREIU R i AR e o fore 2
P foreredi 3 & aatfrd Jagw SO
oy
(A) @™ 10 e
(B) TR v
© T ¥
—~BY TE R oY) -
®) Igehaws
en)
78 W}nch of the following sﬂ heterozygous
alleles?
(‘\!
Choose the most appmprmté,ﬁnswer from the
options given below: v
(A) Both TT and tt (B) ﬁ
©) u ®) Tt
(E)  Question not attempted
. Pefdfe # @ s R ettt
| e A
| e fr 2 v Yoge s g
Y- @ Trewed @) ‘ﬁ
. © 4B Ty
) (B) Irguf@ys 3% O
f 21-;1:‘ B14 ) 8 " El 5o
sday 60O
92-5 L& 24 I
S T

-2 1

79

80

praig

200 90
181 3 o
——””’/6’0”
S
Match List-I with List-II. 8 ‘35'7\ RA }é
List-I List-II | oY
a. Phenotype I.  Genetic constitution
b. Gene I. External appearance
c.. Genotype IIL. @ytexpressed in F1
(generation
d. Recessive IV. @‘Jctor that controls a
1972
character character 59/
1 Fam g Pegdtm R~ 8\
-1 -1 i
a. TAEITET L aaaziﬁm#qz:r 18
b, S II. puciczuy
c. S TET I1L. gbqﬁaﬁﬁaﬁmqﬁ 913
10 9‘18
d. AT IV ﬂmteﬁmﬁ 0
gwa%ﬁaﬁam%

Choose the most appropriate answer from the
options given below:

ﬂ%ﬁqwﬁﬁﬁﬁwa@aswgﬁmgﬁ;
(A) a-Ib-II c-II, d=1V -
a-IL,b-IV,c-1I

© a-Lb-Hlc-II

D) a-Iv,b-M,c- M4} I

(E)  Question not attemptéd / STt Wr
on

The Bhakra Nangal Project is a joint venture of
which of the following grctlg of states?

Choose the most appropriate answer from the
options given below: (8 0]

(A) Punjab, Rajasthan, Ottar Pradesh

(B) Haryana, Punjab, Rajasthan

(C)  Haryana, Himachal Pradesh, Punjab

(D)  Rajasthan, HaryanacYttar Pradesh
(E)  Question not attempted
RUCSE U tr?aﬁw ﬁﬂ%ﬁe}a ¥ e Ty %
TR 0 W
ﬁw’%{f@ﬁﬁmﬁ&m@mm
(A)  iITe, TR, I RRYT
By~ feamom, Y, Tsreehi)
©) wfamm, f%qmu%ﬂé
(D) . sy, s, S
(B)  orqafaww

[Contq,,,
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81
not associated with Rajasthan?

Choose the most appropriate answer from the
options given below:
(A) Panchna dam project
(B) Sidhmukh dam project
(C) Jakham dam project
(D) Matatila dam project
(E) Question not attempted
fr=faftaa 3 & e o ster aru-afeismT o ey
TS & T R? -
Prerfrfe fraredt & & wrarifres swges s
(A) 9T Fig RESET
s_B) Tagre s af@Esmr
(C) SrEw =ia gfEsET
(D) ~ wTarEtsT ST 9iEsET
(E) ﬂgﬂﬁa uq

82 = Pichola lake is located at which place in

Rajasthan?
(A) Bikaner
(B) Kota
(C) Udaipur
(D) Jaipur
(E) Question not attempted ‘
faster siter asreena § for o ax feorg 29
(A) diFER '
(B) T

AT R
(D) SAYR
(E) Siuiawy

DEF-BI4] @ . 18

.. Which one of the following water dam projectsis | 83

84

Match List-I with List-II.

List-1 List-IT
(Farm animals (Caused by)
disease)

a. Anthrax I.  Protozoa
b. Cowpox II. Hypocalléemia
c. Coccidiosis II1. Bactt_arizli"l
d. Milk fever ' IV. Virus |
-1 9% arer ght-11 7 ferem Rifsg
-1 C eI
(Creft 3 wyrait 3 A (@)

a, TEE I. W&

b. TEfiaer II. eTEareEfiaT

(ShTHUTH) _

c. HlifsARE 1L Shamy @adfar

d. fies dag 1v. formmy @)
(= )

Choose the most appropriate answer from the

options given below: .

R R Pt 8 & warfares sages s
AT a-ILb-Le-1V,d-11

B) a-M,b-I,c-IV,d-1I
(©) a-TM,b-1V,c-L,d-T

D) a-Lb-I,c-MI,d-TV

(E) Question not attempted/aﬁ'ﬂﬂ'cr o

Approximate age of sexual maturity of buffalo
bull is .

Choose the most appropriate answer from the
options given below:

(A) 20 months (B) 22 months

(C) 18 months (D) 15 months

(E) Question not attempted

WEAX B D oRwmmar f ontE T

Breft 1
Freerfian et # & wraffores sagw s &
(A) 207 —~B) 22WE
(©) 189w © (D) 159E

(E) orgafawsy

[ Contd-
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. Which of the following is
g W hi INg 1s not a component of

bio-gas? 87  The percentage of total solids in cow milk is
Choose the most appropriate approxima.tely bt
options given below: v HISER T, e W%aﬁﬁwmmm
(A) . Oxygen (O,) o ' S ) _
(B) | CH, (Methane) ‘éf' Choose the most approprfa%answer from the
(©) 'Carbon dioxide (CO ) 05 options given belf)vff:
(D) Hydrogen Sulphide (211251‘)\1 ﬂ“ﬁ’ﬁgﬁﬁ‘maﬁ“ﬂ%&wmﬂﬁ’
(E)  Question not attempted \» /6{(r 18.5% B) §6%
W%%ﬁﬁﬁaﬁw.marﬁ.ﬂq%%mqﬁ%? © 58% D) T32%
ﬁﬂﬁ%ﬁﬁmﬁﬁmﬁm@@sm? (E) Question not attempte@ﬂ'flﬁﬂ g
HiFdH (O ; :
A(ng:ﬂﬁ:{ (CHi) % (- 88  ‘Operation Flood’ is related tg
©) ﬂéﬂ’gﬁaﬁm}g‘g(coz) % Choose the most appropriateanswer from the
(D) EIEZIS GTHITS (H,S) & options given below: E‘g
(E) Iquidwy LW (A) ol (8) milk
' ] (C) fish : (D) swpter
86 Which of the following PaShu Melas are (E) Question not attempted>
conducted in Jhalrapatan E’P Jhalawar in TN TS’ Heiferd 2
Rajasthan? - fFrffiad feed f & aaifrmsages sa Ts:
a.  Shri Baldeva Pashu Melg (a) d&@dH By % o
b.  Gomti Sagar Pashu Mela(y (© #=8¥ (D) g
c. - Shri Ramdev Pashu Mel4™ (E) guiawsw (s
d  ShriChandrabhaga Pashﬂlela :;
e Shri Veer Tejaji PashulV.Lg}p 89 A shopkeeper allows succgssjve discounts of

Choose the most appropriate (ipswer from the 15% and 10% on every item. He allowed an

options given below: - additional discount to his friend. His friend paid

(A) aandconly (B) a,bande only

hor) ¥ 2,907 for an item marked fg? 4,000. Find the
(C) c,dandeonly (D) b @d d only

percentage of additional disOunt given to the

(E) Question not attempted o%) fisiid. N :
mﬁm%m%ﬁlﬁﬁ frflga & T THMER e I W 15% 10% 6t v
SR I RS Sl i SN 1w ve o B 9 g s e
N wwﬁ?ﬁ <« SR T 3 4,000 A} TG D fore 3w firy §
- HIRR] < 3 2,907 IHIQ 30 B 1 & 8 srfiries
c. aﬂm&awgﬂm gﬁmmml - Q—{?ﬂ
I e i (A) 4% o W=
e. &ﬁ‘qﬁ'{%ﬁ'ﬁﬁ’qﬂﬁm CD ! (B) 7% m |o ¢‘
3 Ry g ferret #f & waframmw g S & N g
(A) &hael a I ¢ (B) %@éa.ba‘me —*('B)ZS'; g TR b
(©) aﬁﬁc,d:‘lﬂ'(e/w%%baﬂtd ’ . e __7::)-0“
© i ; (E)  Question r}gg:;empte@%w
DEF . B14 ) o 19 gpa = 25
¢ 2" TN < TeA N
\

ARRE i‘;ﬂwf
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- th '/ 2 1
0% and 40% of 04 Whoisthe captain of the 14" Hockey Indja Junior
o respe {55 o nal Championship 2024 for ‘Hockey |

Men's Natio

Two numbe
” he third number. What percentage is the first
e 2 Rajasthan’ team?
umber of the second number 1 nswer f h
- 2 gt e @& £t FHUM: 30% TUT 40% 2 Choose the most appropriate rom the
qgaﬁa@wuﬂawaﬁrﬁaﬂi e 87 options given below: _,-‘
A) Meena Mohit

&Y T5% _ e s oo (A)

(B) 40% w (B) Kamalkant

(C) 50% %}’7{! w (C) Gurjar Sachin Singh

(D) 70% : (D) Himanshu Kumar Meena

) 3 uq
(2: "guesiamitationpiSH e (E) Question not attempted
B 14 3 e g SR @AY AR 2004 et | ;
91 Three bells ring at intervals of 9 minutes, 12 bl b

minutes and 15 minutes respectively. If they start e H ':" : s
ringing together at the same time, after how much freferfiaa fashedl & & @i I9g S G-
time will they next ring together?, . Y Har Aifea |

(A) 3 hours 3B 1 hour 50 min . B HHAGI .
(C) 2 hours (D) 2 hours 30 min (©) -{Ff(gﬁqﬁ-lg |
(E) . Question not attempted . (D) m, W“ﬁ“ﬂ ‘
o wfeat a9 firme, 12 fFe aur 15 e & € s e

RIS T et 81 A I T 9 O ¥ g W
mmm&ﬁ%a‘rmaﬁﬁmﬁm%ﬁm@ -
95  In which game did Annu Rani win the gold medal

gai’:’% o in the Asian Games 20237
! © 2% @ 2%30fm " Choose the mast appropriate answer from e 7
i aﬂﬂﬁﬁﬁ’«f : options given below:
(A) Shooting
92  Three numbers are in the ratio 3 : 4 : 6 and their . (B)  Wrestling
;{{EF. is 9.‘ The LCl\;of the n;n%ber is: : (C) . Javelin Throw
ms 4 : 6 3 3TIUTd H & YT 39T HCF 9 (D) Discus Throw
37 gEATH ;
i) - ‘W LCM (%B) e (E)  Question not attempted
e 1y 2023 3 wrad Al & vy ool 3 P A9
(E)  Question not attempted / AR g AL
. et et 3 & wratfora guge ST
93  The HCF of 13.5, 0.9 and 12 is: (A) T )
13.5, 0.9 74T 12 31 HCF (W&wH WHTIadF) ® g
A) 54 A8 03 (©) v ¥
©) 1.08 @) 3 D feewsm
(E)  Question not attémpted / wqﬁftaw (E) 1gaRa wsy DE

DEF - B14
8 20 ) [ Con‘d..-
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96

R o ] kL gl

—ape

VT, N T T Ty T

under

In Rajasthan the “MURhyamantri
Ayushman Durghatna Bima Yojana”, the amount
paid by the government, in case of death of more
than one family member in an accident is:
Choose the most appropriate answer from (he
options given below: '
(A) T20Lac - il
(B) R S5Lac
(C) T 10Lac
(D) R25Llac
(E) Question not attempted
T H A TG o ofter A, &
i el e 35 e 2 stfreh e 3 e
T W 3 3T fem 22
Frafattaa fasredt & @ Faifas Iugw SUT:
(A) 20T ‘ '
B) TIs5T™@
A& 0@
(D) 259 -
(E) gafw@ws
97 According to Rajasthan budget 2024-25 (8"
February 2024) which of the following amount
bond is proposed to be given to girls through
‘Lado Protsahan Yojna?’ '
Choose the most appropriate answer from the
options given below: -

TSTETT Foie 2024-25 (8 Wt 2024) ¥ HIAR

ST sireaTe AT H afmTe @y e F A

Torery wyerer o T ST SRTfera &7

Rrfrfe fraredt & watfires guges oo g

(A) %2,00,000

(B) 50,000

(C) %1,00,000

(D) %1,50,000

(E) Question not attempted / arwfta W&
DEF. B14 &

98

OBCs the

expenditure is shared between Center and state in

In Pre-Matric scholarship for
the ratio of:
Choose the most appropriate answer from the

options given below:

(A) 100% state sponsored scheme
(B) 70:30

(©) 50:50

(D) 100% centre sponsored scheme
(E)  Question not attempted |

o freer arf & ford &g ot wrafa & = &t
YA Fex T HEHI 3 o1 &
frefafaa faeedl & & waffas Iuge ST

/(a:)’ 100% TST & Fer™ar ITd

70:30
50:50 .
100% g & TETIar I

(B)
©
48))

(B) ~ 3rwiva et

99

100

21

If the average of the nun:;befs K.(K+7),7,9,12,
15 and (2K + 1) is 9, then what is the value of
X2 +1)?
I E@MK, (K+7),7,9, 12, 15THT (2K + 1) &
e 9 7, A1 (K2 + 1) T HH FT 82

(A) 26 ®) 5

ey 10 o 17

(E)  Question not attempted / TR war

An item was sold at a profit of 15%. If its cost had
been 5% less and it had been sold for T 258 less,
the profit would have been 12%. Find the cost
price of the item. '

T T A 15% mm%mwnwﬁmmq—@;
5% FH BT AUTAE T 258%«%@3}?&—(&-{;},‘
12% B3 8Tl 373 7o T oY)

(A) T2,940 (B) 3,200

(C) 23,120 BT 23,000

(E)  Question not attempted / TR oy

oo — 1
[COthln-

|
35— 106y
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101 Which fort in Rajasthan was called the armoured | 104 « Name the folk deity of Rajasthan known as ¢
fort (Bakhtarband Durg) by Abul Fajal? God of camels-
Choose the most appropriate answer from the Choose the most appropriate answer from t
options given below: options given below:
(A) Taragarh (B) Kumbhalgarh (A) Malljhal.hji-' (B)  Gogaji
(C) Nahargarh (D) Ranthambore - (C)' Te_la_]l . (D) Pabuji
(E)  Qigstion not attempted (E) Questlon not attempted
mmﬁmﬁmﬁaﬁ#fﬁw mmﬁ%@mmwwﬁﬁﬁmi‘ama

s Gk ket ﬁm%ﬁgaﬁwq‘rfrﬁwaf%mm:ﬁ

(A) (B) PTG
© TEge D) TR (A) qIE_t-ﬂIQ]GH (B) i
€) Ay S ' - © g..j} D) st

_ : (E) Ay :
102 What arg-Bateliya, Bichhiyo and Lalar?

Choose \thie most appropriate answer, from the
options giden below: T ;

(A) Fb6I musmal,‘mstru;neﬁ'ts

/@ Whlcﬁ gcnre of Rajasthani literature is just li
e tellmg and llstenmg to a story?
Choog&ghe most appropriate answer from t

(B) F}&@ dances : ! opnons‘g_wen below:
(C) FJIK songs ' ; o (A) #Vigat (B)  Jhamal
®) Folk drama .. : (© ?*T_i%at () Parchi
E) Questiona;:;t aﬂemptedgv : (E) Questlon not attempted
Teferan kel %%&rﬁmi‘faﬁnﬁ?ﬁﬁaﬁw
ﬁ%aaﬁara;mmaﬁ
&) TgEEETT  (B) W™ ﬁﬁ%‘«%m - =
~O) gt (D) e i i ma A
(B) Agofawar , ; -' :
4 - (D) _ qﬁ?
103 In ZOIO"ﬂthch famous folk dance of Rajasthan

(E)%ﬂ?lﬁ?r

106 Whlch dialect of the Rajasthan is spoken in tt

“region of Kota, Bundi, Jhalawar and Bar
regloﬁ"ﬁ -

was inqluded by UNESCO in its intangible
cultural heritage 1ist?

b Choose the most appropriate answer from the
options fiVen below:

(A) Kﬁigehya Dance

(B)  Agi Dance

© Dance

(D)  Tgrah Taali Dance

Chooﬁ"ﬁ?he most appropriate answer from it
°Pt10n&<glven below:

Mewati
(E)  Question not attempted © l‘Dhudham (D) Hadoti
20]0&@@;%%%@;3@3%% (E) pestion not attempted
esCO) b ST S e e | TSR, . e afcard A
ferar 5o . a‘f@ﬁa‘l?-f’ramﬁ &
ﬁtﬂg%m waifirs 39w 3w gy, 7 et 3 & erartferes guge 30
AB FFETE B) st 4) g ®)
© TEE . D) ey R B W
@, ARy ®) et s -
DEF - B14 ] 5 22 ;;f [ Contd™
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107 Which of the following is not the breed of buffalo:

e it i el e T

108

109

DEF - B14 | 3

Choose the most appropriate answer from the
options given below:
(A) Murrah

(C) Beetal (D) Toda

(E) ~ Question not attempted

frafofga # & SR 99 6 7w Tl %‘?
Frerferfaa frered o & watfires Juge I
(A) T B) weEwm
(€) = (> =

(E) aia s

(B) Mehsana

Which of the following is the correct temperature
for cryopreservation of semen in liquid nitrogen?
Choose the most appropriate answer from the
options given below: y
i Y T e 1 ey g FA & fae
TR AEH RTL?

Frrfirfiae femedt & & watfis mmgﬁ
(A) -86°C NBY -19°C

(C) -196°C D) -296°C .

(E) Question not attempted / ST T

A transmissible viral disease ‘Ranikhet’ is 2
common disease of:

Choose the most appropriate answer from the
options given below:

(A) She
(B)
©)

Sheep

Goat

Poultry

(D) Cow

(E) Question not attempted

e weuig feree) ST U Tt faee AT
R

Frerferfia frapedt i & watfiras g saC -
a5

B) FHUH

©€) FHEH

(D) TEF

(B) gai@d

-ty

110 Accordingto ‘Rising Rajasthan 2024’, Rajasthans

111

112

23

rank in installed wind power capacity is:
Choose the most appropriate answer from the
options given below:

@A) 4" ® 2"
(c) 3¢ o
(E)  Question not attempted

TR TSI 20247, & qaq Fet Hr
TorTfre 7T 3 shH 3 TSTET 1 T 8- '
frafefaa foreredt # & waffers Juge SACL:
() wgd up fidfm

(C) TAm (D) oA

(E) rgufays

Who among the following players of team
‘Hockey Rajasthan’ made the only goal in the
14™ Hockey India Junior Men’s National
Championship 2024 against ‘Hockey Haryana’?
Choose the most appropriate answer from the
options given below:
(A) SahilRuhal  (B) . Sunil Mann

(C) ‘Anurag Suthar (D) Amit Khasa

(E) Question not attempted

it T ¥ FrafaRes & 4w ﬁaa‘@‘f el
143 e Tty SR €T AREART-2024 3 g
e ¥ Raars e mia fomam

FrefeRas freedl § & waifa® I9gw STWTH:
(A) wftweed (B) Ehaamw

(C) AR . (D) A @

(E) Irgaf@ws

Which of the following is a physical change?
Choose the most appropnare answer from the
options given below:
(A) Digestion of food
(B) Rusting of iron
(C) Crystallisation
(D) Bursting of crackers

Question not attempted
ﬁwﬁ‘-vﬁaaﬁﬁﬁmm s ofadydy
P frre 3 & e 3o e
(A) WSAFIEA  (B) Fﬁ%ﬁm
(D) ‘l’ir@:,,m
(B)
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114

115

Which of the following fruits and vegetables

change their colour, when after cutting, they are

kept open for some time?

a. Apple b. Tomato
c. Potato ¢ d. Brinjal
€. Carrot Q0

Choose the qubappropriafe answer from the
options given belolv:

(A) a,cand d%ll}’ (B) a,bandconly
(©) b,canddonly (D) c,dande only
(E) Questionqidt attempted

Frerfirfim 3 2 R et S et &

T T % Tl T T T o il w
o O

g ™

a. b. THTRT
Sy

c. I ¢ d Fo

e. TR '

ﬁﬁqwﬁaﬁﬁﬁﬂwﬁmmmgﬁ
T FaT a, ¢ 2 d ®) aﬁaa,baﬁ(c
_ FaAb, ¢ d (QI Fadc,d e
(B)" Irgafta v
i
N 1 .
When a numbe@mcreased by 4?5- % of itself,
it becomes 590, The number is:

S RE TR Y 474 %a?,rréma‘ra-gsgoa
STt 1 98 W i

(A) 470
(B) 350
ey 400
(D) 430

(E)  Questiondt attempted / SRR Wy

4162800z

If (150% of k) -?-é,= 540, then the value of k is:
A (kT 150%)D3 = 540, T k FTAH 2,

_(A) 1080 a
(B) 360 V)
(C) 540  yuy
(D) 920 <
(E) Queslloncﬁ-'gt attempted / 3TFafRa wor
EF - B14 o
. ' 8 '”%;*f

117

@ The total number of students in a school wag 750,

0

_,_,(45:}80

As a result of new admissions in the school, the i
number of boys increased by 11% and the number -
of girls increased by 20%. If the total number of
students in the scP_ch became 846, then what ig

the number of girlsAow?
et foremers T T e 750 of
ﬁmﬁwa@ﬁ%qmwmﬁm

i 11%5@3941?@5@@@&20%@&;@.
afe feramer # el <6 et wie 846 3w

wTefeRat i adur dear w22

o "

168 )
1| 20

B) 150 Qo N ;

N 1B
(C) 180 Ve N
D) 192 - 4 K3

< (
(E)

Question netpttempted / HTaf 75

The LCM of two @mbers is 14 times their HCF
and the sum of Lw and HCF is 600. If one of
the number is 28K Yhen the other number is:

21 HEETeY @ LC&?_‘(HW THTYede) 39 HCE
(FETH FHTTd) @it 14 7 & qo9T LOM (@0 |

W)WH@WWWWWGOG
%mﬁsﬁi’rwmzso%ﬁrgﬂm%:

Q ® 32

& ® 120

Question nghttempted / STFARE
O

©
(E)

. 140

-
118  If the average of Sgqumbers is 12 and the average

of five of these nmbers_ is 15, then what is the
average of the remaining ﬁumbers?

% 8 T affr 12 % qur e & v HEHH
1 39 |5 %,‘cﬁ%ﬁ@mﬁmr sfEawT e
() s N ®) 6

© 65 O 7

(E)  Question negjattempted / SRS
o [ Contd--
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T .'rn'. - Do Wr t:'r“lu a2 _
Vb TN I 19 36 y0P ALK ETIAS
a\/ ;‘ﬂb M 1 38 e —F;\g"f SE ’ g‘sq\

Ahe av cmbc age of BoYs in a group of students is
/ 1\\|Cc the number of+girls in the group and the
average age of the le group of 50 students i
19.2 years. If the r@ of number of boys and
girls in the group is 9..15 then what is the average

20 .
122 Vast natural pastures on the high mountains, in

Garhwal region above 12,900 feet are called:
Choose the most appr@}fare answer from the

options given below:

I e N “ B
age of gnls‘(m }-cars)ﬂ‘_ _ (A)  Evergreen grassladd 1)
50 farenfiiat % wh @il sret R st smg e (B 1) Bugyal 4 -
o wreforl it we L AT T Qe frofag (T 5, Hi =y e | 20Y
g 19.2 9 ® AR ﬁa:sé:aﬂt?—le%q"raﬁ 2 © J N~
m?nfrar—mazi 12, ﬁaﬁmmg(aq’r’ 19 (D) Terai grassland ?@" ﬁ" 4
) =T R o e b (E)  Question not attempted & R
(A). 17 o) 16 . i TgEAT & §, 12,000 e il 1 Serd w fead
© 18 \fo) 15 ot/ ﬁw@wﬁwmum%%mmmﬁ% =
() Question not aliopted / STRAN “LEF 5 e e &1 4 rtfirs swgm s o O
=, HEEER ﬂzﬁl
120 Udder secretion immediately after calving is I ) % 315 3
. knownas dis rich in o i o S =5
Choose the most apprppriate answer from the (€) W= 5 . o
! options given below:00 (D) TEHIH ¥ dar? &4, \(;218
| (A) Calf starter, Ig@lB) Colostrum, Ig A (E) aqgﬁﬂ?[g’.g]‘ mﬁ?ﬁ {m
(C) Firstmilk, Ig D) Special milk, Ig M .__3_;:;6 co
(E) - Question not a,gsmpted : ; o] 2’
ST T ¥ & P AT 123 Which of the following districts of Rajasthan had [©
=T FEATdT & 3R T ¥ = “the highest populationSgrowth rate during the
Yt Bar?l o ' decade of 2001-2011?

Frafafaa fasedi § Sxatfae sugw so -
:. 169 (&) T EIE, Ig G1B) FIEH, Ig A
(C) THPUIgE D) ffiregw, igM
€) wmaaws |

=

Which of the foll6Wing is not the pastoral
community of the Himalayas?
Choose the most agpgopriate answer from .the
options given belowD
(A) Dhangar  OQ(B)
(C) Kinnauri C\D)  Sherpa
(E) Question not dttmpted

ﬁmﬁiﬁﬂﬁﬁﬂm@%mm

121

Bhootiya

B ST S

25

DEF - B14 | 3

Choose the most appropriate answer from the

options given below: - Ty
; B GO v 9.% ‘AT
(A) Jaipur 90 N _-5#;
(B) Bikaner g kO s
5) 65 g3 /
(C) Barmer /q‘\ 8.8 . r
10
(D) Kota Yo T -h.,n,g\fﬁ
(E) Question not attempted
2001-2011 %Wﬁmﬁam% 3
forer e ot @ q\%z watfirer s 81y
ﬁﬂfﬁiﬁﬂﬁmﬁﬁ N’Hba:mmﬁ 34
A 0
(A) AR r-I 3 B
(B) i@t < o j
“ T @y Bowg

(D) = Yo Io %—‘31 Q
(B) orgafaws 5u % .

0 5o ;

ELE R X S ;:7 ¢ | Conta 0




124 Which of the following districts of Rajasthan had

125

DEF - B14 | 8

the highest percentage of urban population in
their total population in the census of 20117
Choose the most appropriate answer from the
opti&:‘:s given below:
(A)
(B)
©)
(D)
(E)  Question not attempted
2011 Y SETORT ¥ st ¥ PrefeRad § @ frg
et o vty et s sftrrr 363 ot e
1 waifes 9T
et famedt 3§ & watfie sugw soogt:
(A) =R s

B) SR
(C) =R
®) dFET
(E) FEraws

Udaipur
Jaipur
Kota

Bikaner

]

Which of the following statements is incorrect
about the image formed by a convex mirror?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

I 29T o R @ AT Wil F an  Frsffag
FdPHM AT

Fafefian et 3 & warftr sy s g
(A) FTgaABT BT

B) I smd T gar )

e AT & S AT 8
(D) FTEGIAAITTH & TR

(E) orfuRawy

It is smaller than the object.
It is virtual and upright.
It is formed behind the mirror.

It is formed on the same side of the object,

126

127

128

26

Diffused reflection is caused by:

Choose the most appropriate answer from g,
options given below:

(A)
(B)
©
(D)
(E) Question not attempted

forafa (orfmafim wada ser Fror drars. |
Fieaffere et i & wrarfores suges e, |
(A) aad | !
ABY™ quads it srfrafaa gas

(C) awaw Tdur

(D) =mehrelt 3 faet wae

(B) Iaf@wsa

is mostly used as side mirror of

Concave lens

Irregular surface of the reflector
Plane mirror

Brigﬁl and smooth surface

vehicles.

Choose the most appropriate answer from th
options given below:
(A) Concave lens
©
(E)

B)
Convex mirror (D) Plane mirror
Question not attempted

T ITINT Hfrehat areat F wrd s
w9 8 frar ST &1 '

Frafafes faeredt § @ waifs sugw s
(A) sEa@dw () SEAw@EdwW -
~H€) SHadu (D) THaE T

(BE) orgafaws

Who is known as the father of nuclear science i
India?

Chaoose the most appropriate answer from ¢
options given below:

(A)  Dr. Har Govind Khurana (Khorana)

(B) J.C.Bose

(C) Rishi Charak

(D)  Dr. Homi Jahangir Bhabha

(E) Question not attempted

I 3 e e o (el ) § 9
& T W ST ST 89 ;
Pt Rt 3 & wrarffores g S S
(A) 3. Fvlifi gene) . ﬂ:@mm‘"
© wfwwm ) e

(E) orqafaws

Concave mirror

[ Contd~
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120 Which of the following - endocnne glands is

131 A flap like elastic carti O :
known as the master gland of the body? p like elastic cartilage whighrgcts as a switch
Choose the most appropriate 3 N eritior (i between the esophagus and tracﬁ is:
options given below: o t ' Choose the most appropriate apswer from the
(A) ~ Thymus gland (B) ° 'Ad1enal gland options given below: i
(C) Pituitary gland (D) Thyréld gland (A) Bronchus Pay

. )
(E)  Question not attcmplcd
(B) Pharynx
frfafad & @ S9-H of: a'ld&mﬁwrﬂ“{‘éﬁ’r TR
_ﬂ_ﬁr ﬁ%) "' § B (C) Lal’ynx O
e (D) Epiglottis
ﬁmﬁaﬁaﬁmﬁﬁmﬁqumgﬁ pig :;%
(A) ATEHY UMY &Y (E)  Question not attempted
(B) Mﬁlﬂﬁ(‘@'—\ﬁ)!‘lﬁl’ ) Emé T TR (e, A geres nfa wEEr S
~AS e (fregedh) wfa i ke o2 %@Wmmﬁmaﬁtz%m(q@%%aﬁam
D IDIECE) Ly ‘ 2 S
) uf o . fNufcFd At e, aw@e- O
) I wH ' - y
i > = . Frafafaa frwed § @ gaifis 3ugew 9 TH:
15 % o ) L5} : O
130 Which of the following conditiong’are correct for A W =)
donating the blood by a male or féf'ﬁale‘? B) iteE/mTEt 0
a. The weight of a person must b&abm"e 45 kg. () w3 g
b. The person should not suffer frmp any serious /j;DY e ¥y
disease. R ' E) Tm— =
c. Hemoglobin level in theu Hidod must be : 2 o
between 8 to 12. o
d. The person has not donated lisod since last 132 Haemoglobin is present in ]
two years . i‘ﬂ _ Choose the most appropriate @wer from the
Choose the most appropriate arfdwer from the options given below: g
options given below: R (A) Both white and red bloo Atils
(A) aandbonly (B) ab gﬂ!‘] conly ' S - =
(© b,canddonly (D) candd only ®) ite blood celis.nie €3
(E) Question not attempted (C) Red blood cells
fopdt qew STal T F T T qEF b (D) Platelets g
freferfera o & -4 Rufeat wdid? (E) Question not attempted oy
wwﬁsm:::ﬁfggﬁnﬁm?ﬂmaﬁm AR T T ST 2 N.
b, =gt feret ‘ﬂ%'cr‘-xﬁh:ﬁm =feq)
ﬁm%f@ﬂﬁﬁﬁﬁﬁmﬁaﬂ?
o, I T I A 1 T 8 2 ¥ o € I ST
aifew = (A) JFAa ﬁtﬁﬁﬁﬁﬁﬁ'@ﬁﬁ
4. 3 st I frod e @ wem gt R 81 - ® A T R §
3 feq o foreredt 3 & waifares gugew s T AC) e T wRTR |
(o) Faeta b _4BF Faera,bafitc (D) Ty (<reerem) i
© Faeb,c3Rd D @ ¥t ¢ 3 d ) swtE v
e Sk He
DEF-B14] @ 21 eeme [ Contq,,
A
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Select the correct 'statements from the following :
a. C.anccr is caused by uncontrolled cell division.

b. Hepatitis-A is caused by bacteria.

c. Haemophilia is a genetic disorder.

d. Leprosy is a viral disease.

Choose the most appropriate answer from the

options given below:‘ ,

(A) a,bandconly (B) a and c only

(C) bandconly (D) aand d only

(E) Question not attempted

Frferia i & et et 1 g

o Sae P R Ry 3 T g &

b, federeRed- A SiaTopsi 3 shror e &l

c. EWrHiferar T aTﬂﬂﬁ'lﬂi fam 2l

d. FBT (@) e foraToy <=y AT R

3 R freedt 3 & watfir Sugw ST
A Faea, b3 c (B) Faera 3 c

(C) Faab3Rc (g{ Faera 3 d

(E) IgaRaws :

is reddish brown, bean shaped

structure present in lower abdominal cavity of
human beings. '
Choose the most appropriate answer from the
options given below: .
(A) Thyroid gland
(B) Kidney
(C) Liver
(D) Gall bladder
(E) Question not attempted

T - T AT (&) F S
T & S Tt o St e ¥ P s #
STt 2
Frerferfae et 3 & watfares Suge wac:
(A)  grEs Ity N

_AB) T (T

DEF-B14] g

(©) FFa =
(D) i ¢ife sy

(E) Sgaf@ =

28
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136

- (A) c,dandeonly (B)

Identify thé Rajasthani player who has not play,
cricket in Indian Cricket team.

Choose the most appropriate answer from tp,
options given below:

(A) Aanantjit Singh Naruka

(B) Gagan Kishanlal Khoda

©) H_ap'ur‘r'lant Singh

D) "Parthasarathy Harishchandra Sharma
(E) Question not attempted

e wrereenh R fora sl foncke i fir
Tt @, -

SyfRae Rt & & g IUG ST T
(A) st &g Teeht

@B) T RS ST

© wpwidE
(D) et aheres Tt
(B) SAqaiaws .

Nutrionally egg is a rich source of:

a. Proteins

b. Iron and phosphorus

c. Unsaturated fatty acids
d. Carbohydrates

e. ~ Vitamin E

" Choose the most appropriate answer from the

options given below: !

a and d only
(C) bandeonly (D) a,bandconly
(E)  Question not attempted

a. RN

b i I wrewre

c. . ITHQW FHT AN T

d. wElRRIT

€ ﬁaﬁ?Eaﬂ-

:ﬁ%ﬁf{m{ﬁﬁﬁq‘fﬁ%mﬁﬁsﬁ?ﬁmaﬁl
¥, dafe Waaﬁ(d

E Fbatke (p) Iacta bINC
(E)  rgefa iy’
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137 which of the following is not a protein present in ‘:‘QA sum of T 23,450 is divided among A, B, C and

milk?
Choose the most appropriate answer from the

g T
7 I B O

options given below:

(A)

Caseln

®).,
© (D) Lactaglobulm
(E) Question not attempted

ﬁn%@ﬁﬁ%ﬁq-mwﬁwaﬁwwmq

Lactose
Lactalbumin

D such that they received the money in the ratio

" ofA:B=2:3,B:C=5:6andC:D=3:4.

How much money did D receive?

z23,450a?ruﬁTA,B,camDﬁ3Hma‘m
T foF 3% 9T yAOREi § U@ A : B =213,
B:C=5:6auC:D = 3:4 8 D I fohear &7

E o Az @D
P e 3 & wrrffires S s 23 32
(A) R @By FHE (A) Z8,150 (B) ¥ 8,500 s 5k B
©) oRTEPR (D) AT BT 38400 (D) % 8,200 ,3,-3/? Y
S RG] : ' Th 1929
& NS (E) Qﬁgstlsn not attemptedfmﬁﬁ'd g 10! 3.8 2
_ 23*1{0 Af\ﬁ—‘{
38 \ The common test to check i '
: -e . rn e:s otcticckadaleaonit glice 141 ‘Digilocker’ is a government cloud based
th animal fat is: _ o ' 3;37 3
Choose the most appropriate answer from the plitforin provided applisation for 1400
4 : . Choose the most appropriate answer from the 192%
options given t:etow. 00, e most appropriate answer Irom (he W
(A) Nitric acid test s
(B) Carbolic acid test 33 1
¢
(C) Baudouin test /_b"‘
(D) Halphens test ns
(E)  Question not attempted '

Eﬂﬁaﬁamﬁﬁaﬁzﬁmﬁ%%mﬁ
mmqﬂHﬂT% :
ﬁnﬁﬁaﬁaﬁﬁﬁﬁwﬂmmmﬁ
(A) arefeer aveer alierur
(B) araiifereh ST TXIET
() dgH
_rg);/greﬁ;#qﬁﬂﬂw

aq:raﬂ‘cfw

A goldsmith has gold of 14 carat purity and 18
In what ratio should he mix the tWo0

139
carat purity.
to make an ornament of 15 carat purity?
g AT 35 T 14 3 @ 18 %tzmmﬂ
aETRl 15%@“%#%@“ -

o s & T
(A 3:1 +(B) 5:2
© #:a D) 5:4

(E) Question 1ot attempted / STTefed ¥
DEF.B14] @ ; ™Mo 18
. -
ot

29

)

¥
i

QR

205°\3° | |
Y -:}f,‘. ﬁg 2. options given below:
-3 po T /

(A)

Storing election related data in a digital
form :

B)
©

Storing cash in a digital form

Stoting important docurments in a digital
form '

(D) Storing precious metals in a digital form
(E)
feforeierr TR T0 ToT TH FARS ST
TREE &

frerfafaa fpeal 78 waff?l?ﬁmtﬁraﬁ
(A) AT gt SwgT A fefireer =7 & e
0 & ot

Tt @t feiiea w0 8 andla 0 & Ry

Question not attempted

(B)

_ACT et T @ Refea ¥ ¥ v

FW & ferd
(D) et urgett At Rfvea Sy ¥ endm vy 3
fq
IR W

(E) .
\WE [Conw,
— 06— 258
-‘4"2' 1_}_5
3
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The upper limit of Joan amount proposed in the

first phase(®f ‘Gopal Credit Card Scheme’ for
-

one year ism
Choose the\Jnost appropriate answer from the
options gi\sﬁ below:

T ShisgiFTs: ASAT o wuw =wor ek

ERRUNETERNEC R CE L E AR RS
"ﬁm%ﬁaaﬁaﬁﬁ&waf&awavwgﬁ

(A) T2,56,000

/{B)" 4 50@0

143

(C) T75MDQ0 et fieh-

(D) " 2 1,0&)00'“ | '_ '

(E)  Questibn not attempted / TR ¥
Q 1;

The first ppage of “Gopal Credit Card Scheme”
proposed fdm 25" September 2024 to 8th

October 2(5% is to target reachmg how many
Gopalak fdtiilies?

LI . (- = it
Choose thgpost appropriate answer from the

_ Dpﬁon.s gi@below: -
(A) 11 l%
®) 31 .
(©) Slag |
(D) ?la&p
i

(E)  Questjpn not attempted
“TiraTer SHIEEFTE AT T o =T Y 25 freraw

+ 20240 8 TFTA 2024 T TXATT &, 1 wre Frey

ﬁm%ﬁaa&fmwﬁﬁﬁmf@mmmmaﬂ
11

® s

© 59D

(D) 9@

(E) rgafa

DEF - B14 | 8 .

30
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Who is_the minister of technical education
Rajasllpaq (in Septembcr 2024)?

Chooséithe most appropriate answer frop, the
opuoné‘gwen below:

(A) Smt. Diya Kumari

(B) Shti Kirodi Lal
(o)} ghri Madan Dilawar
(D) Dr Prem Chand Bairwa
(E)  Qliestion not attempted
nmﬁ%aar-ﬁﬁﬁmuﬂ’r (Ferawar 2024 %) =y
&7
ﬁmﬁ—rﬁé%i TN mﬁ&mmmﬁ
(A)  Hih e
(B) aﬁ*ﬁﬁg’rm
ey o v feamax
(D) E€P39 == AET
" (B) - JgafE s
N

Accort{’tg’ to report by Forbes India published in
September 2024, In Indian states Rajasthan ranked

© _in projected GSDP (FY 2024-25).
Choos%:t}he most appropnare answer from the
optloni@ven below:

~

(A) - 9 (Eleventh) .

(B) (Third) ;
© sY(Fifth) -
(D) g(Seventh)

(E)

Question not attempted

W@T‘cﬁﬁmm 2024 # yafira faE &

STTATCHI 3 T, Tropeerrr o1 g (o @
:ﬁ‘ﬁ)‘%ma&zozusﬁwm%

Freafeian faeredt & & warifres ages ST
(A)

B) fyu

(C) ur=Et

(D) wraat

(B) i@ wy

[‘Contd-"
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146 According  to” modified''Budget 2024. 25 of

Rajasthan, how much money, is, allocated under
“Doctor Shyama Prasad Mukherjee Zila Utthan
Yojana™?

Choose the most appropnare answer from the
options given below: Vi s et

(A) 900cr - (B)'300cr

(C) 5S00cr (D) 700 cr

(E) Question not, attempted, .
mﬂéaqﬁaﬁaaazzozmsé:m
<7 TTHT SIS Tt STt Seerm A %aﬁmzﬁ
s R Y

Freifefaa feredt 3 & aratfires suge oo

(A 900 - 300 g, —
C) 500%Is (D) 700F
(E) aig?rﬁ?rsrar-

147 Where is the place of orlgm of Luni river of

Rajasthan?

Choose _the most approprmte ;answer, from the
options given below:

(A) Eastern Satpura range

(B) ~ "Amarkantak

(C) - Nagg-Pahar ;owas

(D) Angsi Glacier

(E) ., Question not attempted
Wﬁﬁﬂﬂmwm%?
ﬁn%%ﬁﬁwﬁﬁ%wﬁamm :-raﬁﬁ
(A) ydfwageraoft (B) oFERd | |
~«C) amuEe (D) st R
(E) 3rguita 94

148 Which one of the following hot winds blows in

-

Rajasthan?

" "Choose the most appropriate answer from the
options given below: .
(A) sirocco . . ,(B) Khamsin. :

(C) Loo - (D) Chinook

(E) Questlon not attempted _
e & wred ATl T 3wy g fnefated § 8
Eac kv

ﬁﬁﬁﬁwaff&a;mm?
(A) et ®) e
S D) foq=
(E) aq:ﬁrﬂ'dw
EF‘-'BM] & ©

M
L

=y

149 Chulia a water fall is located in which of the

following physiograi)hic regions of Rajasthan?
Choose the most appropriate answer:from the
options given below: -
(A) Aravali region

(B) Western desert plaiﬁ regioﬁ :
(C) Eastern plain region

(D) South-eastern plateau region

(E) ' Question not attempted

i s T TR Frfafas & @ fora

i 8 o -

frfafaa faamed & & watfars sage® SeC
(A) EerER

(B) it weevrelia Aert &

(©) it derhtax
@ =t et

() ':ﬁgﬁﬁaw

¥

150 Whlch of the followmg types of forests are not

found in Ra;asthan? .

Choose the most appropriate answer from the

' options given below: -

(A) Tidal forest

(B) Tropical thorn forest

(C) Tropical dry deciduous forest

(D). Sub-tropical montane forest

(E) ' Question not attempted -

Frefefas # fare o 3 a7 e 8 qra;' S
& .

Frefrfae et & watfires wem.- IR

/ék)’mﬂzraq

(B) IR AR

(C)  Iwrarfestfy sk qulareft oy
(D) USRS Tl T

(B) orgaftawx
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